


Solve an exercise
⇔ 

Puzzle game



(AB) is orthogonal to (AC)

Let A B C be points
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(AB) is orthogonal to (AC)A B C are collinear
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A B C are collinearABC is a right triangle in C
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ABC is a right triangle in C
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S(ABC) = ½ . |AC| . |CB|

Area of a right triangle

Let A B C be points



ABC is a right triangle in C

S(ABC) = ½ . |AC| . |CB|

Area of a right triangleDefinition

Angle(ACB) = 90°

Let A B C be points



ABC is a right triangle in C

Definition

Angle(ACB) = 90°

Pythagore

|AB|² = |AC|² + |CB|²

Let A B C be points



edukera = 

user-friendly proof assistant + 

course axioms + 

tutorials + 

training exercises



Demonstration
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Logic 
(~80 exercises)

Algebra
(~100 exercises)
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